2 (700) ARHIZ g (710) 2HIS
e (711) 4254 = : (201) QprE) cr9l : &E)
oAM= oaer | S 52
= Al 44,686,604 32,692,714 11,993,890
700 AtHHIE 24,233,675 21,780,089 2,453,586
10 el 23,744,470| 21,449,796| 2,294,674
711 E==LF=H| 1,222,337 1,181,948 40,389
200 g &4l 880,337 834,948 45,389
201 LBt2Id| 40,397 46,728 A 6,331
01 ArR22lhl 29,320 31,220 A 1,900
O 1. det==ZH| 24,320
P F=F X2 JI| U] B A =42 (4. otEHD])
4,000,000& x23] 8,000
PITHEHCIANE HAZSE 22 HA =2 (TOCS)
360,000& x123] 4,320
p A2 HIOIA L AMS 2 A2 (T, A AEEF)
2,000,000& x23|x321 12,000
O3. dx=z 5,000
P22 U U X = 100,000 x50A[2¢ 5,000
02 =22l 11,077 15,508 A 4,431
O 2. 9zl 11,077
b ESF I|HA L AIRA AZH| 722X 24 A 2tx 11,2823 x5 A 11,077
206 =4l 8,000 8,000 0
01 Letii=H| 8,000 8,000 0
O sAzeg 228 7 (s, a2, WP 2)
100,000& x20& 2,000
O +Z22d dHAH 7 (LLHEAR| 25)
2,000,000 x3& 6,000
207 HAFPIHEH| 48,000 0 48,000
01 dxx=9H| 48,000 0 48,000
O &3 222 HE 8 89
48,000,000 x 14 48,000
212 =c|=4d| 1,440 720 720
09 DJIEt=c|Z=4H| 1,440 720 720
O 1. II=H| 1,440




2 (700) ARHIZ g (710) 2HIS
e (711) 4254 = (212) =ol M) cr9l : &E)
oAM= oaer | S 52
> IINHA 2RI (FE) 1,440
® HH=(ol8,55,848t=) 310,000& x40l 1,240
@® otN St 50,0003 x40l 200
214 =HR XWX 62,500 59,500 3,000
05 JIEtAIYI 20,000 20,000 0
OFa+& SPHEZ A4 22 WAl
4,000,000& x5& 20,000
06 AIZ&EHIKRXH 42,500 39,500 3,000
O &2 2 =2 7RI
2,000,000 x5& 10,000
O =& R
5,000,000& x 132l 5,000
O F=-83 Y &+H 5 EHE &4
5,000,000 x 2 A x 23| 20,000
O &R ESTTYE 2 2A|l AldE KA
1,500,000& x5JH & 7,500
215 S| 720,000 720,000 0
O 3d=F=H &8z
60,000,000& x12& 720,000
300 A&0lH 342,000 347,000 A 5,000
306 92 152,000 157,000 A 5,000
01 AXIEMEHSS 152,000 157,000 A 5,000
OA4+d B39 FUXAY &H2 (BHT)
152,000,000 152,000
308 XXIEXSOIA 190,000 190,000 0
05 XXXt E3 190,000 190,000 0
O 248d &85 79 2eldl8 2E32
190,000,000 190,000
712 E==H| 10,513,738 9,534,927 978,811
100 Qg =2ZFH| 23,213 17,316 5,897
101 QI1Ad| 23,213 17,316 5,897
04 JIZHHZZ2NSE=* 23,213 17,316 5,897
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20 (700) AbHIS

Jlo oo
S
Z o
08
Q
[==
10

Me : (712) B4 cel  JR))
oAM= oaer | S 52
pOIASS S HAL QI2H01 B ARG
70,000& x23| 140
P23 EAY 70,000& x1121x23| 1,540
02 ===2ZH| 62,984 66,961 A 3,977
O1. 3322 % MA 48,209
PSS A AUE SOMM (B2 LEA ATHZ)
21,690,000 x10% 2,169
| ZaEi=e1l] 100,000& x7¢! 700
DAL EE QIHY, MES|IM, M3lea A EE
650,000& x12& 7,800
PESA AIES 160,000& x 18I A x12& 34,560
PRUUS AIES 130,000& x12& 1,560
P OAIAAD A MAUBH S 70,000& x 14 70
POIEXt & Xt U BHZ(0|EXH4UH, P 10H)
1,200,000& x 14| 1,200
bt AN RES 75,000 x1CHx 23] 150
O 2. Azl 10,782
PESE JIAHA HE SJO
72U X24A|2Ex 11,2823 x40 A 8,862
PEE LPG AIES
80,0003 x 128 x 2 & 1,920
O 3. XtEFL | 3,993
| NN 3,993,000& x 1TH 3,993
202 0Odd| 19,200 19,200 0
01 =2ULAYI 19,200 19,200 0
OJI2gR =& bl 20,000 x6 x102Ix12& 14,400
O At =& OHI(MI0ILE & W= &4) 400,000& x12& 4,800
206 M= Hl 9,224,700 8,313,230 911,470
01 getii=H| 30,000 23,000 7,000
OFET 2 L M 2
1,500,000& x10& 15,000




2 (700) ARHIZ g (710) 2HIS
Me : (712) B4 = : (200) WEH cr9l : &E)
oAM= oaer | S 52
O AEAN, ZAF &L XXX HAE K 2L
1,500,000& x10& 15,000
02 <Zl 150,000 150,000 0
O H+=2+ZHI(PAHCS2I 38)
37,500,000& x4& 150,000
04 F==7H| 9,044,700 8,140,230 904,470
O &9aE F 22|
60,000& x413& x365< 9,044,700
212 =c|=4| 4,991 4,400 591
01 ASIBEREZ 591 0 591
OJIZHZ22X A2 €32 591
P IEEY RES 23,212,000& x1.5% 349
PAMEY 2ES 23,212,000& x1.039% 242
09 DIEt=cIZ=MH| 4,400 4,400 0
O 1.101=H| 4,400
A FE ST 100,000& x 89! 800
PEE 22X 3,600
® Hg=(ote,s5,48t%) 310,000& x10¢! 3,100
® ot 50,000& x10¢! 500
213 uW=E=&h| 700 700 0
O 1. /I u=H| 700
b EDCHM2te| I R EXR WSH|
100,000& x 72l 700
214 =HF XL 424,100 344,900 79,200
06 AIZEHIKX L 424,100 344,900 79,200
O =X L& (B2 X)) sXi2el 61,000
P Al =& (A=35,000m") 14,000,000& x43| 56,000
== Fel 5,000,000 x 14 5,000
O &+E A2 SE2M ALY SR 2 29
3,500,000& x 17944 59,500
O CCTV SAl2el 24 (660H)
1,500,000 x 170 & 25,500
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20 (700) AtSHIE
Mg (712) E=tl

Jo oo

oAM= oaer | S 52
O ==Xl R013H SS (222 11H)
150,000 x 12 A x12& 21,600
O g+ XMel& 2J3 X, MFRX &&= MA
5,000,000& x4 2~ 20,000
O MEE JIAH & HIANE SRS+, It
1,800,000& x10& 18,000
O ABSANL W 2TASZHET SN (VB 95)
4,000,000& x108 40,000
O A5 446 L A2E DY
8,000,000 x 14 8,000
O 272 2F(HA L) ANEE SRS
10,000,000& x 2JH 2 20,000
O =83 &4
5,500,000 x8IM A x23| 88,000
O M1, 2HE SEX, XX EA L =X MA
10,000,000& x638| 60,000
O AINEZRH Y OIEX =AM
500,000& x5CH 2,500
215 =8| 675,000 675,000 0
OJAFZFZ NMEZ 56,250,000& x 123 675,000
300 A&0lH 1,000 500 500
301 2BIEA= 1,000 500 500
10 SAIAHIZ &3 1,000 500 500
O =x=2g8It23 29 1,000,000& x 14 1,000
713 HH-=2==Hl 3,037,585 2,644,945 392,640
200 2% &H| 3,018,085 2,596,183 421,902
201 B3| 259,255 283,983 A 24,728
01 Ar222ltl 118,200 136,800 A 18,600
O 1. det=gH| 43,200
AL E MIjotE 2| Y =2
700,000& x12& 8,400




2 (700) ARHIZ g (710) 2HIS
ME : (713) bi-34H = : (201) QprE) cr9l : &E)
oAM= oaer | S 52
bS.BALE HIIEB| (8 448
600,000 x12& 7,200
PAFE JISE JI|tE 2L (A =5
700,000& x12& 8,400
b 2N 22 S
1,600,000& x12& 19,200
O 3. dxt=z 75,000
b2t IHE =& ZH| XZ
50,000& x1,500A[2¢ 75,000
02 S=2ZHl 141,055 147,183 A 6,128
O1. 3322 < HMAl 116,530
PASILE SAIA 23
150,000& x12& 1,800
PAFE IIYE MRS
220,000& x27) A~ x12& 71,280
POlsclt Lot L 0|SHS=Z
450,000 x12& 5,400
b ToE AAFE Sl
40,000& x30H A x12& 14,400
PAGERENH MIRS 30,000 x30M A x12& 10,800
PRERI 700,000& x12& 8,400
» XS XEAI(5TH) (250,000 x 1TH)+(100,000& x 4CH) 650
> AsSX BEE2(500) 700,000& x5CH 3,500
PRSIt SZHNLREZ 50,000 x3CHx23] 300
O 2. Azl 3,876
bSO AT W RTIIUE LY SF0
72U X24A| 2% 11,2823 x 1| 2~ 2,216
P AT PG AEE
50,000 x 1288 x 1 & 600
Polsclt = SRU
722 X8AIZ2Ex 9203 x2J4 A& 1,060
O 3. Xt e| 20,649




) .
=2

(700) AtEHIS

Jlo oo
S
Z o
08
Q
[==
10

e (713) B340 ciol M)
oMY= oaer | S s2
PEx(SaI 4,356,000 < 1CH 4,356
»3=(E5E) 4,474,000& < 1CH 4,474
IS (AE) 3,416,000& x 2CH 6,832
PSE(LE) 4,987,000 x 1CH 4,987
202 Oidl 68,880 68,880 0
01 =SUiAb| 51,600 51,600 0
OJl=g! =& ol 20,0003 x10€ x14eIx12& 33,600
O Al =2 oHl(RHE2d S) 1,500,000& x12& 18,000
08 SIHAZZXSNHHI 17,280 17,280 0
OJls=cltt A2 =& oyl 10,0003 x 162 x92Ix12& 17,280
203 LRFaAd| 5,880 6,060 A 180
04 REN2ZLRFLH] 5,880 6,060 A 180
O =E1H(58%) (350,000&+28% x5,000&) x 12& 5,880
206 M= Hl 136,000 138,500 A 2,500
01 LBt =H| 136,000 138,500 A 2,500
O &2 218 =& 2| 400,000& x2508 100,000
OJls=cltt 28 A5 7 3,000,000& x 1A 3,000
O etHAIE=E & OHMEH| P 20,000,000& x 14 20,000
O SN E HE) B2 B3
&4l 6,500,000&+AlH] 6,500,000 13,000
207 AP 219,000 200,000 19,000
01 H41E49H| 19,000 0 19,000
O &=k JAXNFEs oE 849
19,000,000& x 14! 19,000
02 MADHEHI 200,000 200,000 0
O&4+=Z GISDB RAE+ Y
10,000,000& x20km 200,000
212 Scl= M| 22,470 24,760 A 2,290
09 DJIEt=c|= 4] 22,470 22,470 0
O 1. o=l 2,160
b ==2XE 2,160
@ Hgs5(ote,55,48t5) 310,000& x62! 1,860
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2 (700) ARIHIS 2 (710) QoIS
e (713) B340 = (212) =212 MY (9l : 7
oMY= oaer | S s2
® QtXM 3t 50,000& x6¢2! 300
O 2. S2&t| 16,800
> =S| 7,000& x2004 x12& 16,800
O 4. RIHAUZZ A OI=H| 3,510
b Jls=clit 3,510
=2 (5l2,58,465) 310,000& x990l 2,790
L9, ¥t 30,000& x9¢! 270
© Xt 50,000& x9¢! 450
214 =HR XWX 1,934,600 1,502,000 432,600
01 S=AHZIIwHMUI 570,000 390,000 180,000
O =FAHEI| WA 50,0002 x5,000& 250,000
O HEASEI| 22HEH 400,000 x 500 2 20,000
O == HEIIE W& 2,000,000& x 15091 £ 300,000
02 A5t 2 Wbl 800,000 400,000 400,000
OLZFE=2 A 2,000,000& x 40094 2 800,000
05 JIEtL MBI 450,000 590,000 A 140,000
OZog T =7 800,000 x 10094 A& 80,000
(OESC PSR 2,000,000& x 354 A 70,000
Oz ez FNEH(ZMSESHS=HEXS)
2,000,000& x 150 2 300,000
06 AIZEHIKRXH 114,600 122,000 A 7,400
O Jls==clgt EH| RXIHl 500,000& x20& 10,000
OJls=cltt d= RAExH| 2,000,000& x 14! 2,000
.0 & HE KA 1,000,000& x 1091 & 10,000
O FEREH 72 700,000& x 3094 4 21,000
O 228 SXNE=+ 2,200,000& x 274 A& 59,400
O a2 g2l 2038 RAEs 600,000& x12& 7,200
OJgd 283 34 5,000
P ENEIIZAE(150E), ZESHISXI(50), KH2-SHI=4=XI(40)
2,500,000& x23| 5,000
215 =8| 372,000 372,000 0
O 3o a dgkz 22,000,000& x12& 264,000
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2 (700) ARHIZ g (710) 2HIS
ME : (713) bi-34H 2 : (215) 2| (191 : @)
oAM= oaer | S 52
OS.8HXY 3% MAZ[6A] 9,000,000& x12& 108,000
300 Z&0IH 19,500 26,400 A 6,900
301 prEazg 12,500 5,000 7,500
10 AAIAHIE A3 11,500 0 11,500
OJls=cltt MRS A& A 500,000 x23H x 13| 11,500
12 JIEIEA=S 1,000 5,000 A 4,000
O R 40 X3 1,000,000& x 14 1,000
305 HiaZ32s 7,000 7,000 0
O &=k == 1ol e12tel B3
5,000,000& x 14 5,000
O =S HEI| ZAHCIE HI 242
200,000 x10A 2,000
717 Z-Hi=3AtYI 1,700,000 1,300,000 400,000
200 =29 &l 1,700,000 1,300,000 400,000
231 Al ZAI 1,700,000 1,300,000 400,000
O &5 S=3AH AL IS A
1,000,000& x1,700A 1,700,000
751 Lgkatelyl 6,683,382 6,246,087 437,295
100 olz=2gH| 5,064,273 4,723,641 340,632
101 Ql24d| 4,855,233 4,519,041 336,192
01 2= 3,197,379 2,990,285 207,094
o1.2122 2,438,972
P== 2,165,333
® 42(98) 6,412,333&x121x12& 76,948
® 52(303) 4,238,100& x202Ix 123 101,715
® 62(283) 3,639,500 x 140Ix12& 611,436
®73(223) 3,087,100& x250Ix12& 926,130
® 82(163) 2,495,000& x110Ix12& 329,340
® 93(53) 1,566,700& x401x 123 75,202
® AZAHB1B) 3,713,500& x 121 x12& 44,562
P X 2 IH & H| 2,165,333,000& x4.6% 99,606
P2 2,088,385,000& x1/12x50% % 23| 174,033

_10_



B (700) AlRIHIE & (710) Qe
Et o (751) Qe = (101) 0121H)
2.8 HE-S oaer | S

02 =g 404,981
| SR P P = 69,840
® 54 0|&~10 0|2t 50,0002 x421x12& 2,400

® 10@ 0l&af~154 O|gt 60,0003 x82I x12& 5,760

® 159 0l&at~20¢ Olgt 80,000& x62Ix12& 5,760

® 20 0l&f~254 0|gt 110,000& x142Ix12& 18,480

® 253 0|4 130,000& x242Ix12& 37,440

| gl Rea Bt =y 16,081
®42(19) 76,948,000& x9% 6,926

® 53(23) 101,715,000 x9% 9,155

| FSEESEI Ry 3,840
® 140|gt 70,000 x221x12& 1,680

® 130l&~230| et 90,000& x2021x12& 2,160
POtESE 42,318
® HH Xt 40,0003 x5821x0.78x 12& 21,716

® JIEHH=E 20,0003 x5801x1.48x12& 20,602
»AEHEHI B XS 17,224
® DSstu(L) 463,990& x5821x0.16x 43| 17,224
PURISRATE 2,013,183,000& x4.1%x1/2 41,271
| =R 50,000& x572Ix12& 34,200
b EASEIIAZ (R B A 20,000 x421x12& 960
PREIRSE 10,680
OR35S 50,000& x1eIx12& 600
OR=+5 40,0003 x2121x12& 10,080
PEIUZ2SE 154,167
® LEHE/(F =) 9,332& x25A12tx182Ix12& 50,393

® LBHA/(=C£0) 9,332& x25A12tx 36021 x12& 100,786

® H2AH==S) 9,957 x25A|2tx 121 x12& 2,988

| =R =ES =y 600,000& x2QIx12& 14,400
O 3. ZugAaldl 90,480
> S AlH| 130,000& x58¢2Ix12& 90,480
O 4. BEFIHI 208,839
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(700) ArHI 2 (710) QoIS
Mg : (751) 2ersely = : (101) o12H) ciol M)
oMY= oaer | S s2
> HEFOHI 2,088,385,000&/12x60%x% 23| 208,839
O 5. HItE 4| 54,107
P DL AMH| 2,264,939,000&/12x86%x1/30x 10 54,107
02 JIEtXE= 580,395 573,322 7,073
O1.Jl2= 412,173
> =22(154 0|4 234 0|2H185) 2,599,600 x202Ix12& 62,391
> =22(234 04 30 0|2H255) 3,139,000 x82Ix12& 301,344
| PSEY Fak:]l 363,734,000& x4.6% 16,732
PEISE 380,467,000&/12x50%% 23| 31,706
02 =g 107,159
P EIEHINF 15,120
® 209 0l&af~254 0|gt 110,000 x221x12& 2,640
® 254 0l&f 130,000 x82I x12& 12,480
POtESE 9,600
® HH Xt 40,0003 x1021x12& 4,800
® JIEHH=E 20,0002 x102Ix2x12& 4,800
»AEHEHI B XS 2,970
® DSstu(L) 463,990& x1021x0.16x 43| 2,970
> EASY 20,000& x102Ix12& 2,400
| 2PN E=y 1,200
® Bt& 40,0003 x12Ix12& 480
(OEPSs 30,000& x202Ix 123 720
UL 75,869
® AZIRIZ2R4EH(F2UH2 2R
9,289% x25A|2tx 121 x12& 2,787
® AZteI224Z(ntH2 2K
9,289% x3AI2tx90Ix 3652 /2.5 36,618
® O 222 WUHZ R
3,099 x8A[2x90Ix 3652 /2.5 32,577
© 5422 74,7453 x 121 x52& 3,887
O 3. Z¥g Al 130,000& x102Ix12& 15,600
O 4. BEFIHI 363,735,000 /12x60% % 23| 36,374
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2 (700) ARIHIS 2 (710) QoIS
Mg : (751) 2ersely = : (101) o12H) (9l : 7
oMY= oaer | S s2
O 5. At AtH| 380,467,000&/12x86%x1/30x 10 9,089
03 SIHAZZXE= 1,077,459 955,434 122,025
OJlas 581,815
pEA, 2HA(8SF) 1,308,530& x2621 x12& 408,262
PAHMEXRA(108) 1,284,080 x2021x 123 30,818
»IIS2EH9B) 1,321,620& x9¢2Ix12& 142,735
O &3 193,940
PERH, 25 1,308,530& x2621 x43| 136,088
PAHTSLR 1,284,080 x2021x43| 10,273
»o|S=clt 1,321,620 x921x43| 47,579
O ==Y 134,331
> AL 2RE 113,743
© ZEE, 254 9,580& x2602!x20A12tx12& 59,780
© #HYEXA 8,957 x22Ix20Al2tx12& 4,300
® Jls==elit 9,580& x92Ix48A|2tx12& 49,663
pSUZSS (OISl 76,2503 x99I x30 20,588
O HAz Al 130,000 x37¢Ix12& 57,720
O WEE 4| 120,000& x3721 x12& 53,280
O HAxt==< 13,870
P2ER, 254 37,5620& x262!Ix10 9,756
PHTS LR 36,820& x221x10d 737
b Jls=clit 37,5203 x9QIx 10 3,377
OPSEY/ Fals] 42,503
p2ER, 254 613,886,000& x4.6% 28,239
PABSER 46,128,000 x4.6% 2,122
»I|S=clet 263,942,000 x4.6% 12,142
106 AHNFLsAH| 209,040 204,600 4,440
01 HAZHRAHAL] 7,200 7,200 0
042 J|2E 400,000& x121x12& 4,800
Ob53 BX0|= 100,000& x221x12& 2,400
02 HZEZXH| 116,400 113,880 2,520
043 400,000& x121x12& 4,800
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20 (700) AbHIS

o g (710) 2HIS
Mg (751) geraely = : (201) QprE) (191 : @)
oAM= oaer | S 52
OR-TRE-RNE === nl ) 60,0003 x401x237 56,880
02 S=2ZH| 78,786 68,884 9,902
O1. 3322 < MA 78,786
P EAIEIIR2(2,35) 4,500,000& x12& 54,000
PTV RETS AIEE 33,000& x12& 396
b ASIEER2 (AN 270,000 x12& 3,240
PEFIMAAUNE L 02+ 2IHA
400,000& x 14] 400
PLUSFRLREZ 700,000& x 13| 700
P EAMHRELZ2(HAD 100,000& x23| 200
PRERI 1,300,000& x12& 15,600
> &GS E 3| 4,250,000& 4,250
202 Oidl 52,840 49,720 3,120
01 =LHAYI 27,840 24,720 3,120
OJ2e: =& oyl 20,000@ x6L x110Ix12& 15,840
O At =& 4| 1,000,000& x12& 12,000
03 =2IYR0I 25,000 25,000 0
O AIH#HR =& ol 2104 6] (A ST A &)
25,000,000 25,000
203 HRFad| 19,300 18,730 570
01 JIA2ZLR=LH] 3,300 3,300 0
O &= AHS 3,300,000 3,300
02 FEIAHR=LH] 3,360 3,210 150
O &+EZ3IAEESHA 30,000& x 11290l 3,360
03 AIHHRZ=ZIH| 7,000 7,000 0
O &= A 7,000,000 7,000
04 BAN2IHRFLH| 5,640 5,220 420
O g21H(5401) (350,000 + 5,000 x2401)x 128 5,640
212 Scl=MY| 225,976 208,963 17,013
01 AIEERY= 110,686 97,745 12,941
O RINHLZZ A A2 B 223 110,686
=013 232 1,077,459,000& x4.5% 48,486
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2 (700) ARIHIS 2 (710) QoIS
Mg : (751) 2ersely = (212) =212 MY Cgl  JR))
oMY= oaer | S s2
pROIHAEEZE 2EZ 1,077,459,000& x3.035% 32,701
PLOIMIIQAEEE REHS 32,701,000& x6.55% 2,142
P IESESE 22 1,077,459,000& x 1.50% 16,162
P AHETHOHEE = 1,077,459,000& x 1.039% 11,195
09 JIEt=c|Z=4H| 115,290 111,218 4,072
O 2. 2| 8,400
> E2X 24| 7,000& x100A/ x12& 8,400
O 3. %&=8 =XNME AlZ | 106,890
PEEY SXIE Ol=2U= X2 1,018,000& x 105¢! 106,890
213 W=l 2,000 2,500 A 500
O 1. A =] 1,000
b= 2t Zd| 100,000& x10¢! 1,000
O2 3R31x Az 1,000
PSR AMuE 2AMZ 1,000,000& x 13| 1,000
214 =EF XL 105,000 96,100 8,900
06 AIZEHIKXH 105,000 96,100 8,900
O 31 Ut HAIAE S22 10,000,000& x 14! 10,000
O A 23 FdI(H= L Albl) 30,000,000& x 14 30,000
O A A E A2 20,000,000& x 14} 20,000
O 3N EL 29 40,000,000& x 14 40,000
O A Yatztel 249 250,000& x12& 3,000
O BN &2ZD| etdze| 24 2,000,000 x 14! 2,000
300 Z&0IA 966,527 926,049 40,478
303 a2 178,000 178,000 0
02 Auatoi2 178,000 178,000 0
O dau= 178,000,000& x 13| 178,000
304 AZ3REZ3 S 788,527 748,049 40,478
01 H=2=RE3 650,621 619,067 31,554
(OR=E == 4,072,174,000& x8% 325,774
OEd3 4,072,174,000& x3.621% 147,454
(@R ES e = = 4,072,174,000% x4.2272% 172,139
O Mol2aRg= 4,072,174,000& x0.129% 5,254
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(700) ArRHIS g (710) 2HIS
$ o (752) @2 L asolEE 2 (201) LS (191 : @)
oAM= oaer | S 52
PO =SK 22Ul
2,000,000 x 14 2,000
PSAHD|, ZElH S &A1 ABE 2L
1,000,000 x 10CH 10,000
02 ===2ZHl 8,400 18,420 A 10,020
O1.3322 < HMAl 8,400
P2SZHI USOIH HLtY (EDI) MEZ
150,000& x12& 1,800
PHERS EE HE ANEE S4H|
100,000 x4CHx12& 4,800
P IUHBEAAEZ HHES SAlYI
60,000 x20 x 123 1,440
P AGITSE 23 ARS AAE 2F S4ld|
30,000&x12& 360
202 0dd| 118,760 95,040 18,720
01 =2ULHAYI 17,760 17,760 0
OJ2g: =& gl 20,0003 x62 x302Ix 123 4,320
O RSACE HAEY SR2(EEH) oyl 20,000& x 14 x40 x12& 13,440
08 RIAHAZ=Z ARSI 96,000 77,280 18,720
ZEE 2 F& ol 20,0003 x16Y x250Ix12& 96,000
207 AP 2,000 5,000 A 3,000
02 ™ADHE I 2,000 5,000 A 3,000
O 4ot=E2= d=2 SHOIX HCH 2208 ¢
2,000,000 x 14 2,000
212 =c|=MH| 10,800 6,960 3,840
09 DJIEt=c|Z= 4| 10,800 6,960 3,840
O1 1=l 1,800
PLHEAHR A=ZRE 225(018,88) 310,000& x50l 1,550
PEHR A=SZRE 225 50,0003 x5921 250
O4 RIHAZZ At TI=HI 9,000
PHERA 2R2=(5E,55) 310,000& x 2592l 7,750
»2ER 2R 50,000& x 259! 1,250
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20 (700) AbHIS gt (710) 2ZHIE
Mgt (752) 4 L S=EJt2teldl £ (214) =R X WAL e s ®R)
= = SdEE =
gAY = Oil &t e 2
214 =8 S X WA bl 218,774 100,227 118,547
01 S=AIEI| WA 71,550 0 71,550
O SS=5 U+& Ag)| &R 7
340,000& x 1504 51,000
O SAHE AIAE Z2EI| & SAg 8
137,000& x 1504 20,550
06 Al2&HIRXH 147,224 100,227 46,997
O 4ot aze Z208 JI|LR SAEs
2,000,000& x12& 24,000
O &ol=E 23 ARS AIAE |SXIE =
6,060,000& x 14| 6,060
O Yot R A0EE T AIAH” RAE+
3,920,000& x 14 3,920
O A BHE M8 FUH2I| (PDA) ==2lbl
6,000,000& x 14 6,000
O &ot= 2= 88 SHO0IA RAZ=
600,000 x12& 7,200
O ot s ASIE FEALE X2
600,000& x12& 7,200
O &ot= 3 ASEJE 2HEHEI| X2
18,0003 x290U x 128 6,264
O a2 HEI| SUABE AMLE RIAE
1,068& x5,1958 x12& 66,580
O &= HEI| S22 E AMAE 0|&&Hl & =&
20,000,000& x 14 20,000
300 AAO|E 54,000 142,662 A 88,662
301 «BtEas 54,000 58,500 A 4,500
10 dAEHIZ2dS 21,000 32,500 A 11,500
O =3 2E s J8X Ast
500,000& x 42921 x 12 21,000
12 JIEt243 33,000 26,000 7,000
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3 (700) AFRIHIS = o10H| 2
ME: (752) M4 2 asotpell 0 = ¢ (301) LBENE ciol M)
oMY= oaer | S s2
O 4oteE 3 MEH A SSHA (HAAPH) LAZ
2,500,000& x123| 30,000
O RIS, SR ALY S EFRS FH 2=
3,000,000& 3,000
770 ZHedHl= 69,205 110,293 A 41,088
771 XIZ0I XL FHZH I 69,205 110,293 A 41,088
300 ZF&0IM 69,205 110,293 A 41,088
311 XL ZO0IKHaE 69,205 110,293 A 41,088
04 ZSLHEXLSO0|RHALE 69,205 110,293 A 41,088
O S3Xt2 &elJ1=2 0lAt 69,205,000 69,205
780 Sg&A 20,000 20,000 0
782 MI|EUSTEL 20,000 20,000 0
758 MI|EL-FEL 20,000 20,000 0
O &5 MHI|Y A2 WY BraEg
20,000,000 20,000
800 0oilbIYl 400,000 200,000 200,000
801 0GilgIbl 400,000 200,000 200,000
801 0ilgldl 400,000 200,000 200,000
O At 0l & OB 400,000,000& 400,000
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2 (200) HENKE B (220) SKKAHS
Mg : (229) JIEFEXRHA 2 (511) AxERYS Cgl  JR))
oMY= oaer | S s2
200 X=2&XIE 20,452,929 10,912,625 9,540,304
220 FXAAHFES 99,013 192,602 A 98,589
229 DJ|EFSE RbALAE 99,013 192,602 A 98,589
511 EIXHZEEZ 99,013 192,602 A 93,589
O RIHLZ2Z2A &g 2E3 99,013,000& 99,013
230 |EFHE 19,591,666 10,190,023 9,401,643
234 PA=E2 18,794,700 9,469,727 9,324,973
401 Al&HIZL20HYI 18,794,700 9,469,727 9,324,973
01 Al&dl 18,778,500 9,450,200 9,328,300
O SKS A4=CHSI| SAZEAAL 204 L EX
215,000& x1,600H 344,000
O SHAS ACHEI| MGHHAEBAIAE 201 L X
320,000& x2,000& 640,000
O SHXSY Al AEHS)| NHSFHEAAE LX) 35,000,000& x 14] 35,000
O 3= L &0 =3 HEI| POA BEAIAE 701 L &X
245,000,000& x 14! 245,000
O Ss=8 2 &AJ & HEI| HuEX X 150,000,000& x 1 A 150,000
O ST Al 83J|2 S PDA ZEAIAE 20 & &X
47,000,000 x 14 47,000
O UHRZ2AISE HEI| PDA ZEAIAE 204 & &AXI
195,000,000& x 14 195,000
O K&+ E(2.0x2) ESAL 1,600,000,000& x 14 1,600,000
O AIDHXI Q1B A (S =F 24 XI) AL 400,000,000& x 14 400,000
OsHE MEE HY(REH_ )
=Hl 3,000,000,000&+%=Hl 225,000,000 +AlH| 525,000,000& 3,750,000
O sHE MEE4 L (AxH_2)
=Hl 1,758,000,000&+=H| 226,000,000&+Al8| 527,000,000 2,511,000
OsHE MEE HLY(EYH B
=Hl 1,979,000,000&+=H| 254,000,000& +AIH|594,000,000& 2,827,000
O &R ES7YE FUX2 AL =4l 21,600,000&+Al8l 50,400,000 72,000
O 28 JTH0IS =X E XA (10HA) 1,100,000,000& x 1A 1,100,000
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2 (200) MHEETS 5 (230) RS
et : (234) P52 S (401) AlEHIL LY cr9l : &E)
oAM= oaer | S 52
OAxH =22 23U2 BI=XIEXIAL(1IHL)
1,388,000,000& x 14 1,388,000
OdFHZ HUFA(AISY M7= 18)/24) 28,000,000& x 14| 28,000
O FHE82E, =X, 22IILH A= FRAES
28,000,000& x 1091 A& 280,000
O SHMSE AMNES BB AHF LM N 2 1)
67,000,000& x 14| 67,000
O E==22 FASE L FIXE XA 38,500,000& x 14 38,500
O 10T HxHelAld o B HMBAHT K& v=210m)
450,000,000& x 14 450,000
O L&tl=2 WMESAMOI2S 2l L=7.5km) 200,000& x7,500m 1,500,000
O EEAAE 2= L AL NSSAHST,ZEX?2 IMNES)
800,000,000& x 14 800,000
O sEXY AT AIE IHSFAIE(10IH2) 30,000,000 x 1094 A 300,000
O gLr8) 2 5,500,000& x 24 11,000
03 AIZ=04bl 16,200 19,527 A 3,327
O Xga+E (2.2 SSAL 1,600,000,000& x0.36% 5,760
O = =tH=2t DS A 1,500,000,000& x0.36% 5,400
O SSEANAE 25 L AIE HSSA 800,000,000& x0.63% 5,040
235 J|AHIZEXI 740,936 678,296 62,640
401 AIEHIZ 208 740,936 678,296 62,640
01 Al&dl 740,000 677,000 63,000
O HEE 23012E I, 8I1&8H] |AIHI 18,000,000 x 10942 180,000
O3AFEE HIUEE Xss AESA 50,000,000 x8X| 400,000
OdFF=F FHLEHD IS 2E3AL 130,000,000& x 14| 130,000
O EAt Bot= CCTV M At 30,000,000& x 14 30,000
03 AIZ=2048I 936 1,296 A 360
O dFF=E FHAEHID IS 2E3AL 130,000,000& x0.72% 936
236 XtE2ers 32,000 0 32,000
405 XHHHESHIS 32,000 0 32,000
01  XhatF S| 32,000 0 32,000
O 238X 7 32,000,000 x 1 CH 32,000
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2 (200) HENKE 3 (230) REXAHS
Mgt : (237) BI7HIE S : (405) TAFSHIS Cgl  JR))
oMY= oaer | S s2

237 3I|7HIE 24,030 42,000 A 17,970
405 XhHFSHIS 24,030 42,000 A 17,970
01  XhatFE SHI 24,030 42,000 A 17,970

O g2 18,000

PLEAARE IS SUSLD|(PDA) 1,500,000& x 10CH 15,000

> Ats MASI 2 3,000,000 x 1 CH 3,000

O =& 6,030

> ZEE =H 1,000,000 % 3CH 3,000

P2 =H SLIH 350,000 3CH 1,050

A U ORI S22l 180,000 x6I1+150,000x 6 1,980
280 HIRSSIHAE 430,000 430,000 0
282 HEXZ A3 o 430,000 430,000 0
601 XLIAILE 430,000 430,000 0
04 SLHIIAS 2S4S 430,000 430,000 0

O S3A2 elJI2 3 3 &= 430,000,000& 430,000
800 0oilbIYl 332,250 100,000 232,250
801 0GilgIbl 332,250 100,000 232,250
801 0ilgldl 332,250 100,000 232,250

O X204 ollBIY] 332,250,000& 332,250
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